=

R6

zL181012°2 82'6.£'62Y 29'281'909 BE'8L0'€€0'C lejol
50881709 $1°089°Sv1 66°298'GY1 02'000°09 edueiqo) eied soqioay ap [ejo)
sejusby sonnQ ap apepljigesuodsal Y 2260
50'881°09 v1°'089'GYL 66°298°GY L 0Z'000°09 0l12IN0SS | Op apep|liqesuodsal 1260
(lenpia eneosy) edueiqo) esed soqoay 260
edueiqo9 esed soqiosy
L9'E66°611°2 ¥1'669°€82 £9'¥19'00F 31'8L0°€26'| sagdne9 s senuesey ap |ejo)
$910p8I)) SONNQ B SEPRUDIODY £¥E60
OpeZ||IqoL| P SII0PIVIBUIO B SEPEUOIIDY ZVe60
/2 9p S9I0PaIBUIO B SEPEUOIIDY L¥E60
SEPEUOIOY 'S0JI9DI9 | 8p S805NnE) 3 senueres $£60
00000052 00'000°05Z S8I0paID SONNQ € SEPIAOASQ £££60
06'920°€E 1'669°€E vZ'229 OpEZI|IGOLL| 3P S8I0PITBUI0S B SEPIAoASQ ZEE60
/2 8p S810PadAI0 B SEPIAIOASQ LEEBO
06°9.0'€82 ¥1'669'€8Z vZ'ze9 SEPIAJOASQ 'S0JIIa ] 9p s8gdne) o sejueles) ££60
9Z'0¥L'¢6. ZE'v69'¥62 V6'S¥T 86% §8J0paI) sonQ Jod sepejsald £2€60
9G'92€2¥T’L 20'860°G91 BY'9CT LL0°L OPEZI|IGOLU| 3P S3I0padaLLod Jod sepejsald 22€e60
G2'€09°L6€ 6.'€09°26€ /2 ap saliopadaulo4 Jod sepejsaid 12E60
1G'0L0°CEV T 6€'266'65Y BL'8L0°€L6°) sepejsald 'solladia ) ap sagdne) o senueses ce60
S0J18245 . 5P SA05NED 8 SERUERIRY £60
. “10pai)y 10paAsq ’ 10pa1) JopaAs( jopa1y iR 10pans( oeoeubisag I
FHNINDFS VIONIHI9 VNNV OLNIWIAOW O e sejuo)

soing  :apepiun

WwaplQ op sejuod - 92°2'8

a

00z :ouy

o

SON 30 0L¥0d 3a OIdIJINNIN

1




